Peter Ilyich T'chaitkovsky

Piano Concerto No. 2 in G Major, Op. 44
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Tromba I in D.

Allegro brillante e molto vivace.
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Tchaikovsky — Piano Concerto No. 2 in G Major, Op. 44

b Tromba Iin D.
Tempo giusto.
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Tchaikovsky — Piano Concerto No. 2 in G Major, Op. 44

Tromba I in D. 3
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Tromba I in D.
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Peter Ilyich T'chaitkovsky
Piano Concerto No. 2 in G Major, Op. 44

I

Tromba II in D.

Allegro brillante e molto vivace.
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Tchaikovsky — Piano Concerto No. 2 in G Major, Op. 44

Tromba II in D.
Tempo giusto.
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Tchaikovsky — Piano Concerto No. 2 in G Major, Op. 44

Tromba II inD. 3
L istesso tempo.
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111
Tromba II in D.
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Allegro con fuoco.
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